H R

HF - T VREAOBREFLCLY, Y- & - A7 - A - REeFALTEVET, X HADEREWL,
AR TROISHEBRRVSHBRICEDOVNTEUET,

i# 3] iR %
ZUME (EER) 10ke | JISB2301 B2302
7 > o < | JSB2211 B2212 B2214 B2291 G3451 B2203
& EZEZULAH#F | JSB2306
B # i F | JSB2304 B2305 B2307
* < | JISB0203
FIERVIAF BT
m=w 7 F=v 7 Ry 7N YTy A=W VTY MGT—/3—) 90°T LK 45°T LR
A= R
g | ]
L—- : ) AA
f——f—
TVEZy 7 R=v 7 YTy bARRL—BR) | YTy RGF—/%—) [90°TJLR |45°T )L7K
L L B A B AA A B
20 [50-75-100- 125+ 150 + 200 14,0 20 140 | 23 17
26 | 50-75-100- 125 - 150 - 200 170 25 190 29 19 17
28 | 50-75- 100 - 125 + 150 - 200 210 26 222 30 23 19
34 | 50-75-100- 125 150 + 200 254 34 270 38 27 21
38 | 50-75-100- 125+ 150 - 200 310 36 33.3 40 32 25
44 | 50-75-100 - 125 - 150 - 200 380 43 40.3 45 38 29
50 75+ 100 « 125 - 150 - 200 474 48 492 51 46 34
50 75+ 100 » 125 - 150 - 200 53.6 48 55.6 54 48 37
58 75+ 100 - 125 - 150 - 200 66.2 56 68.2 64 57 42
70 100 - 125 - 150 - 200 82.0 65 83.0 73 69 49
78 100 -+ 125 - 150 - 200 950 71 97.0 81 78 54
90 1230 83 125.0 93 97 65
103 1480 92
103 175.0 92
FryS AP
-__E_*{
lﬁ : 1
o 1 & =
Y L
a=#> Ty ¥
C L S16H | S2 10H B C N B St &
17 30 26
20 335 32 14 17 1/8
10A | 38 23 23 16 25.5 36.5 38 17 18 1/4
15A | 1./2 27 27 18 29 395 41 22 21 3/8-1/4
20A | 3/4 32 32 21 355 43 50 27 24 1/2-3/8-1/4
25A 1 38 38 25 41 50 59 59 35 27 3/4-1/2-3/8:1/4
32A | 1174 46 46 30 150 50 55 69 44 30 1-3/4-1/2
40A | 1172 | 48 48 32 170 56 59 78 50 32 11/4:1-3/4:1/2
50A 2 57 57 36 215 69 66 93 62 36 11/2-11/4-1-3/4
65A |21/72| 69 42 270 86 83 112 80 39 2:11/2-11/4-1
80A 3 78 45 310 99 92 127 95 44 21/2:2-11/2-11/4
100A 4 97 55 405 127 1125 158 120 5] 3-21/2-2-11/2
125A 5
150A 6

31




Frepoas b
STAINLESS STEEL vusrs

ATV ARVAH T
T 7 | B | MRBLCERS DX TAFMFMSENETOT, T—HFEL,
e | i) L o | s (B SUS304 - 304L - 316 - 316L% MKSTEE.
gA | 1/4 |RSIJIN|IE ; ¥ NEFBEF040H
10A | 3/8 12 205 < L
15A | 1/2 14 | 25 '
20A | 3/4 17 | 27
25A | 1 19 | 32
32A | 11/4 | 23 | 35
40A | 11/2 | 26 | 37
50A | 2 32 | 41
65A | 21/2 | 41 | 48
80A | 3 46 | 51
100A | 4 58 | 58
AR
90° O> & TR 90" a—bhINR TA— S AVIVAVE I (8
—A— ﬁ -L e
L J} -
| {’fﬁ ; IR ! 1
< /_fz_l_ '*,:l | 1‘:]
—Cc——c—* R *
i E HE E At W0 I TRy 3— bV B0/ F TR T 4 — SyJoad vk
At | Bf D 10S 20S 40S A A B C R5ke | R 10kg F
15A | 1/2 217 2.1 25 2.8 38.1 15.8 254 48 52 30
20A | 3/4 27.2 2.1 25 29 38.1 158 286 52 58 30
25A | 1 340 28 30 34 38.1 158 38.1 62 70 50
32A | 11/1 427 28 30 36 47.6 19.7 476 i 80 50
40A | 11/2 486 28 30 3.7 57.2 38.1 237 57.2 78 85 50
50A | 2 60.5 28 35 39 76.2 50.8 316 635 88 100 50
65A | 21/2 76.3 30 35 52 95.3 635 395 76.2 112 120 50
80A | 3 98.1 30 40 52 114.3 76.2 473 85.7 125 130 50
90A | 31/2 | 1016 30 40 57 1334 889 55.3 95.3 135 140 50
100A | 4 1143 30 40 6.0 152.4 1016 63.1 1048 145 155 50
125A | & 139.8 34 50 66 1905 1270 789 12338 180 185 50
150A | 6 1652 34 50 71 2286 152.4 94,7 1429 210 215 50
200A | 8 216.3 40 65 82 3048 | 2032 | 1263 177.8 255 265 65
250A | 10 267.4 40 65 93 3810 | 2540 | 1578 | 2159 320 325 65
300A | 12 3185 45 65 10.3 4572 | 3048 | 1894 | 2540 365 370 65
0E 73 HE B t Qe bh-TEE DL Pa—b— [Fey 7|3+ g
At | Bf D 10S 20S 40S D2 H E |L¥a—H— ul--;%ﬁ
15A | 1/2 | 217 2 25 28 38.1 s [
20A | 3/4 | 272 2.1 25 29 1/2 38.1 38.1 |_ i
25A | 1 340 28 30 34 3/4-1/2 508 | 381 N et
32A | 11/4 | 427 28 30 36 1-3/4-1/2 50.8 38.1 H
40A | 11/2 | 486 28 30 37 11/4+1-3/4+-1/2 635 381 |LF¥EVH “}
50A | 2 60.5 28 35 39 11/2-11/4 - 1- 3/4 763 | 381 |LPa—HY— T =
65A | 21/2 | 76.3 30 35 52 2-11/2 - 11/4 + 1 889 | 381 ' o i _ﬂow
80A | 3 | 891 30 40 55 21/2-2-11/2-11/4 | 1016 | 508 l 1
90A | 31/2 [1016 30 40 57 3:-21/2-2-11/2 ' H
100A | 4 [1143 30 40 6.0 3:21/2:2-11/2 1016 | 635 [ 5 »
125A | 5 [1398 34 50 6.6 4-3-21/2 1270 | 763 -
150A | 6 |1652 34 50 7.1 5.-4-3 139.7 | 889 ~1E
200A | 8 [2163 40 65 82 6-5-4 1524 | 1016
250A | 10 |2674 40 65 9.3 8- 6v5 1778 | 1270 “
300A | 12 |3185 45 65 10.3 10-8:6 2032 | 1524

32




orem s by

o,
STAINLESS STEEL w1

BETZ Y FF5K - 10K E752Y BF5K:+ 10K
i—r = —{ g :N Iding c
TN, T
0 P s 11 K
do R 3
g
D
5kef/cm’ 10Kkgf/cm”
WEE ERTA| VR | SR &5k 21012 RPN AR BER | 4R | S AL BT RV SER
AT UM T8 do D t g | f C |l #® | h stk B E gl cl# | h Tik
10A| 17.3| 178 75 9 42 1 55 4 12 M10X 30 90| 12 48 1 65 4 15 M12 X 40
15A| 21.7| 222| 80| 9 48 1 60 4 12 M10X 30 95| 12 52 1 70 4 15 M12 X 40
20A| 27.2| 271.7 85| 10 52 1 65 4 12 M10X35 | 100 | 14 28 1 75 4 15 M12x 45
25A| 34 345 95| 10 62 1 75 4 12 M10OX35 | 125 | 14 70 1 90 4 19 M16 X 45
32A| 427| 432 115 | 12 72 2 90 4 15 M12X40 | 135 | 16 60 2 100 4 19 M16 X 50
40A| 486 49.1 | 120 | 12 78 2 95 4 15 M12X40 | 140 | 16 86| 2 105 4 19 M16 X50
50A| 605| 61.1| 130 | 14 88 2 105 4 15 M12X45 | 155 | 16 | 100 2 120 4 19 M16X 50
65A| 76.3| 77.1| 155 | 14 | 112 2 130 4 15 M12X45 | 175 | 18 | 120 | 2 140 4 19 M16 X 55
80A| 89.1| 900 180 | 14 | 125 2 145 4 19 M16X45 | 185| 18 | 130 | 2 150 8 19 M16 X 55
90A | 101.6[1026| 190 | 14 | 135 | 2 155 | 4 | 19 | M16X45 | 195| 18 | 140 | 2 160 8 19 M16 X 55
100A[114.3({1154 | 200 | 16 145 2 165 8 19 M16X50 | 210 | 18 | 155 2 175 8 19 M16x55
125A11398(141.2 | 235 | 16 180 | 2 200 8 19 M16X50 | 250 | 20 | 185 2 210 8 23 M20 X 60
150A | 165.2 | 1666 | 265 | 18 | 210 2 230 8 19 M16X55 | 280 | 22 | 215 2 240 8 23 M20 X 65
175A1190.7(192.1| 300 | 18 | 235 | 2 260 8 23 M20XB0 | 305 | 22 | 240 2 265 | 12 23 M20X 65
200A (2163|2180 | 320 | 20 | 255 2 280 8 23 M20X60 | 330 | 22 | 265 2 290 | 12 23 M20 X 65
225A 12418124371 345| 20 | 280 | 2 [305| 12 | 23 | M20x60 | 350| 22 [285| 2 |310] 12 | 23 M20X 65
250A 26742695385 | 22 [ 320| 2 [345]| 12 | 23 | M20x65 | 400| 24 [325| 2 |[355 | 12 | 25 M22 X 70
300A|3185(321.0 | 430 | 22 | 365 3 390 | 12 | 23 M20X65 | 445 | 24 | 370 3 400 | 16 25 M22X 70
350A | 3556 |358.1 | 480 | 24 | 405 3 435 | 12 | 25 M22X70 | 490 | 26 | 415 3 445 | 16 25 M22X75
400A [406.4 4090 | 540 | 24 | 465 3 | 495 | 16 25 M22X70 | 560 | 28 | 475 | 3 510 | 16 27 M24 X 80
450A | 457.2 4600 | 605 | 24 [ 525 | 3 555 | 16 | 25 M22X70 | 620 | 30 | 530 3 | 565 | 20 27 M24 X 90
500A [508 |511.0 | 655 | 24 | 575 3 605 | 20 | 25 M22X70 | 675 | 30 | 585 3 620 | 20 27 M24 X 90
550A | 5588|5620 | 720 | 26 | 630 3 665 | 20 27 M24X75 | 745 | 32 | 640 3 680 | 20 33 | M30X 100
600A |6096/6130[ 770 | 26 | 680 | 3 | 715| 20 | 27 M24X75 | 795 | 32 1690 | 3 730 | 24 | 33 | M30X100

LRORDABY A THHMENET,

VF - VREZDSUUODEBEHZENET,
N, BHRBICDOELELUTCHAMRMUET O THEYEEMSICTHAT S,
WFE - ISUPOTENICELTIL,. ROBIEBEE TR TN,
1) M8 (R
2) BIR®
3) EHoSR
4) MR
5 BEAE (RPRAH - BE - TSV

33




